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Here is the results of the 2023 Critical Thinking Test (CTT). This was conducted
using the CTT originally developed by MIU to measure the diploma policy of “DP1:
Advanced thinking" of the School of International Liberal Arts. CT test was
conducted at Senior Thesis-1 (class of B. Rodda) for third-year students (students
enrolled in 2021) on December 8th, 2023. The number of examinees was 42.
Question sheets (23 questions. See example below) prepared in English were
distributed and collected after the exam. Students chose the correct answer from
four options and answered it in Google Forms.
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[ Analysis]
1) Figure 1 shows the distribution of the number of correct answers among the 23

questions. As in the previous years, there is a polarization. [X 12, 23 D IE
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Figure 1. Score distribution of CT Test 2023.

2) Average percentage of correct answers is 52.4% (Number of correct answers
were 11.6 among 23 questions), which is shown in Table 1 together with past
results. This has increased compared to recent results.
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Table 1. Average percentage of correct answers for each year
Year 2016 2017 2018 2019 2020 2021 2022 2023
Correctanswer % 55.0%  47.7%  50.4% 50.4% 46.3% 46.9% 491% 52.4%




3) Table 2 shows the number of students who answered  Taple 2. No. of Correct Answer

each question correctly. The CTT consisted of seven  Questions (CT element) No #
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4) In the previous CT test for first-year students, the 7 Noedwell ® 15
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correct answer rate was about 38%, so it is judged 10 Baseball @ 14
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Table 3. Correct answer rate for each CT element

CT Element No students® Percentage »
@ Identifying related information B {F # > RARD 71(3) 56% (52%)
@ Categorical Thinking 7y ¥a 1) &1k 71(3) 56% (58%)
@ Method & strategy Fi£ & BgiE 68 (3) 54% (50%)
©® Application & evaluation i H & FFAf 65 (3) 53% (55%)
® Perspectival thinking F.if L & Ff > 72 BB 1L 87 (4) 52% (49%)
(@ Deduction Hzfi 64 (3) 51% (46%)
@ Evaluating reliability of information {f # D15 FE 4 O FF-A 71 (4) 42% (39%)

a) Number of students who answered correctly. Values in parentheses are number of questions in
each CT element. b) Percentage of students who answered correctly. Percentages in parentheses
are for 2022.

&  Example of Question
Question 1. According to scientists, a fruit has seeds. A fruit develops from part of a plant’s flower
called an ovary. By comparison, a vegetable does not develop from a flower. A vegetable is a plant’s
root, stem, or leaf. According to scientists, is an eggplant a fruit or vegetable?

a) An eggplant is a vegetable because you must cook it before you eat it.

b) An eggplant is a fruit because it develops from a flower’s ovary.

¢) An eggplant is a vegetable because its seeds are small enough to eat.

d) An eggplant is a fruit because it grows above the ground.




